PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				1,287	cords	
Pulpwood (Total)				1,287		
Saw Timber						
Hardwood				5,363	board feet	
Saw Timber (Total)				5,363		
Total Pulpwood, Chip & Saw	,					\$87,041
Saw Timber FOB Mill						
Total Forestry Stumpage						\$25,993
Forestry (Total)						\$87,041
FRUITS						
Citrus						
Navels	13	11.0	450.00	4,950		\$69,300
Satsumas	13	32.0	350.00	11,200		\$112,000
Other Citrus	*	2.0	300.00	600	bu.	\$4,800
Citrus (Total)		45.0				\$186,100
Figs	*	1.0	300.00		lbs.	\$360
Strawberries	*	1.0	1,400.00	1,400	flats	\$12,600
Fruits (Total)		47.0				\$199,060
HAY FOR SALE						
Grass	*	700.0	2.00	1,400	tons	\$70,000
Hay for Sale (Total)		700.0				\$70,000
HOME GARDENS	11,800					\$3,540,000
NURSERY CROPS						
Woody Ornamentals	*				acre	\$25,000
Nursery Crops (Total) PECANS						\$25,000

PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
PECANS						
Improved	*	3.0	700.00	2,100	lbs.	\$2,415
Native	25	5.0	100.00	500	lbs.	\$300
Pecans (Total)		8.0				\$2,715
SUGARCANE						
Raw Sugar	21	10,343.0	5,880.00	60,816,840	lbs.	\$7,419,654
Molasses		10,343.0	176.00	1,820,368	gal.	\$263,953
Sugarcane (Total)		10,343.0				\$7,683,608
VEGETABLES						
Broccoli (Fresh)	*	1.0	275.00	275	cartons (20 lbs.)	\$4,125
Cabbage					,	
Fresh	*	8.0	475.00	3,800	sacks (50 lbs.)	\$26,600
Cabbage (Total)		8.0		,	,	\$26,600
Cucumber						,
Fresh	*	4.0	270.00	1,080	bu. (50 lbs.)	\$10,800
Cucumber (Total)		4.0		·	, , ,	\$10,800
Eggplant	*	1.0	475.00	475	bu. (33 lbs.)	\$7,125
Irish Potatoes					, , ,	
Fresh	*	7.0	170.00	1,190	cwt.	\$35,700
Irish Potatoes (Total)		7.0				\$35,700
Mustard (Fresh)	7	9.0	600.00	5,400	doz. bunches	\$37,800
Okra (Fresh)	*	7.0	425.00	2,975	bu.	\$59,500
Onions	*	1.0	90.00	90	bag (50 lbs.)	\$1,800
Peppers					,	-
Bell	*	2.0	645.00	1,290	bu. (28 lb.)	\$19,350
Peppers (Total)		2.0		·	, ,	\$19,350
Pumpkin (Fresh)	*	2.0	125.00	250	cwt.	\$5,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Shallots	*	2.0	925.00	1,850	doz. bunches	\$9,250
Snap Beans (Fresh)	6	3.0	120.00	360	bu. (30 lbs.)	\$7,200
Southern Peas (Fresh)	*	2.0	55.00	110	bu. (24 lbs.)	\$2,200
Squash (Fresh)					· · · ·	
Yellow Squash	*	2.0	220.00	440	bu. (45 lbs.)	\$5,280
Zucchini Squash	*	2.0	140.00	280	bu. (45 lbs.)	\$2,800
Squash (Fresh) (Total)		4.0				\$8,080
Sweet Corn (Fresh)	*	2.0	725.00	1,450	doz. ears	\$4,350
Tomatoes (Field)	10	6.0	1,300.00	7,800	lugs (20 lbs.)	\$117,000
Turnips (Fresh)	10	5.0	600.00	3,000	doz. bunches	\$21,000
Vegetables (Total)		66.0				\$376,880
TOTAL ALL PLANT ENTI	ERPRISES					\$11,984,303

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	13	522 Acres in Prod.	375,000	lbs.	\$243,750
Minnows	*	8 Acres in Prod.	11,000	lbs.	\$35,750
Fish bait	27		55,000	lbs	\$330,000
Alligators (Farm)			112,160	ft.	\$1,906,722
Oysters	475		427,665	sacks	\$7,270,305
Soft-shell Crabs	13		2,300	doz	\$46,000
Aquaculture (Total) FRESHWATER FISHERIES					\$9,832,527
Crawfish (Wild)	171		612,000	lbs.	\$318,240

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FRESHWATER FISHERIES						
Catfish (Wild)	17			1,550	lbs.	\$724
Freshwater Fisheries (Total)				ŕ		\$318,964
MARINE FISHERIES						•
Shrimp	1,685			23,185,000	lbs.	\$27,729,260
Crabs	385			12,150,000	lbs.	\$7,800,300
Commercial Finfish	14			3,722,000	lbs.	\$5,940,312
Marine Fisheries (Total)						\$41,469,872
FUR ANIMALS				11,342	pelts	\$60,113
ALLIGATORS (WILD)				52,687	ft.	\$1,159,125
HUNTING LEASES	77	192,000	No. Acres		acre	\$672,000
			Leased			
HONEY	6	37	No. Hives	1,650	lbs.	\$2,228
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES					\$53,514,828

	7 11 11111	LE ENTERNIMBED TROD	0011011		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			410	head	\$148,982
400-500 lbs.			525	head	\$219,453
500-600 lbs.			325	head	\$149,328
600-700 lbs.			125	head	\$65,000
Steer Calves (Total)					\$582,762
Heifer Calves					
300-400 lbs.			245	head	\$78,427

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
400-500 lbs.				310	head	\$116,859
500-600 lbs.				95	head	\$40,462
600-700 lbs.				100	head	\$48,750
Heifer Calves (Total)						\$284,499
Yearling Cattle						
600-700 lbs.				124	head	\$64,480
700-800 lbs.				33	head	\$18,563
Yearling Cattle (Total)						\$83,043
Cow-Calf Pairs				44	pair	\$31,680
Cull Cows				197	head	\$65,054
Cull Bulls				25	head	\$18,263
Cattle & Calves (Total)	40	3,275 1	No. Cows			\$1,065,300
DAIRY						
Dairy Goats	*	4 7	Total Adult	0	Pounds	\$0
		I	Does			
Dairy (Total)						\$0
HORSES						
Brood Mares						
Race Horses	*	-	No. Brood Mares	30	head	\$180,000
Show Horses	25		No. Brood Mares		head	\$120,000
Recreation Horses	40	201 1	No. Brood Mares	20	head	\$30,000
Brood Mares (Total)						\$330,000
Stud Fees						
Show Horses		2 1	No. Stallions	8	mares bred	\$12,000
Stud Fees (Total)						\$12,000
Race Horses	*				head	\$500,000
Show Horses	125			250	head	\$1,000,000

Animal	Number of Producers	Units of Production		Total Production	Units of	Gross Farm Value
	Producers	Production		Production	Measure	v alue
HORSES						
Recreation Horses	400			800	head	\$800,000
Horses (Total)						\$2,642,000
POULTRY						
Edible Eggs	10		lo. Hens		doz. eggs sold	\$672
Breeder Flocks	*	22 N	lo. Birds	6	doz. hatching eggs sold	\$2
Poultry (Total)						\$674
RABBITS						
Fryers	*	100 N	Io. Animals	600	lbs.	\$480
Does	*	60 N	lo. Animals	130	lbs.	\$1,950
Rabbits (Total)						\$2,430
SHEEP						
Wool		40 N	lo. Sheared	240	cwt.	\$38
Slaughter Lambs				3	head	\$294
Show Lambs				6	head	\$1,650
Stocker Sheep				10	head	\$475
Cull Sheep				12	head	\$420
Sheep (Total)	*		lo.Breeding wes			\$2,878
GOATS						
Show Goats					head	\$450
Stocker Goats				3	head	\$195
Goats (Total) SWINE	*	4 N	lo. Does			\$645
Show Pigs				3	head	\$900
Feeder Pigs				15	head	\$270
Slaughter Hogs				12	head	\$1,482

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Culls			7	head	\$770
Swine (Total)	*	4 No. Sows			\$3,422
EXOTIC ANIMALS					
Deer/Antelope	*	20 No. Animals		head	
Exotic Animals (Total)					
TOTAL ALL ANIMAL E	NTERPRISES				\$3,717,349
TERREBONNE PARI	SH TOTAL				\$69,216,480